Equal 9 step grey scaling betweeb* gsn=—34 & L*gaw=34.1,Ygret=1, normalisation white W

L*0aN=—34.0,L%0au=0.0,L*0aw~34.1,Y0an=6.7, Y0al720.0,Y0aw=60.0,Coay=Yoaw: Yoan=9.0
L*tan==30.2,L*tau=1.0, L*tan=34.1,%tan=7.5, ¥a=20.7, Y;an~60.0,Cray=Ytaw: Ytan=7-9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TuBLOG,Ua = 50/ Iog(5) [log (Y/Yy) ] with Y,=20

g*%= 100, g’y= 100 0%=91, g%=9 g%= 99, g%5= 97
L*TuBLOG,Ua intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1104 *a Al*la
50+ :
(D9 341 10 600 10 o341 64 1.0 600 1.0 34.1 61
251 8 256 0875 456 073 258 8'3 0.87 458  0.874 26.0 8'1
7 171 075 346 0524 174 0741 351  0.749 18.0 8'1
6 85 0625 263 0368 92 0613 269  0.624 9.9 '
; 8.2 8.0
o+@s5 00 05 200 025 10 0.486 20.7  0.499 1.8
: 8.1 8.0
@®: -84 0375 152 0.6 —7.o79 0.361 159  0.374 -6.1 80
@: 170 025 115 0091 —14.97'7 0.237 123  0.25 -14.1 8'0
-25+ @2 -255 0125 88 0.030 —22.77'5 0.117 9.6 0.127 -22.0 .1
@: 34000 67 00! -302° 00 75 0.0 -30.2
50~ 3 YoartY,
AL*n.=8.5 i=1,2,...8) ! normalisation: Yigiw=Y Yoait Yoref
Da ( ) taIW=T0aW W Yoret

ied91-3n



